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Solutions to smp-8201-3/HWKR

Worksheet

Problem quickname: 8201

1)
Calculate the result.

a) 563 + 4 = 567
d) 882 + 4 = 886
g) 373 + 2 = 375
j) 371+ 8 = 379
2)

Calculate the result.

a) 7369 + 100 = 7469
d) 3433 + 100 = 3533
g) 5644 + 200 = 5844
j) 5121 + 700 = 5821

3)
Calculate the result.

a) 300 + 80 = 380
d) 200 + 50 = 250
g) 600 4 70 = 670
j) 100 + 50 = 150

4)

Calculate the result.
a) 500 + 80 = 580
d) 800 + 70 = 870

g) 400 + 10 = 410
i) 500 + 30 = 530

Good Luck!
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b) 873 + 6 = 879
¢) 661 + 4 = 665
h) 151 + 7 = 158

¢) 661 + 8 = 669
f) 851 4 8 = 859
i) 131 +8 = 139

b) 5379 + 400 = 5779
e) 4154 + 400 = 4554 f
h) 7304 + 500 = 7804 i

b) 500 4 20 = 520
e) 700 + 30 = 730
h) 500 4 50 = 550

b) 400 + 30 = 430
¢) 100 + 90 = 190
h) 600 + 30 = 630
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¢) 200 + 60 = 260
£) 300 + 10 = 310
i) 900 + 60 = 960

¢) 800 + 10 = 810
£) 200 4 40 = 240
i) 600 + 40 = 640
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¢) 7222 4 500 = 7722
5369 + 200 = 5569
7539 4 300 = 7839
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